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Frequency responses: low pass, band pass, high pass, band stop

first order: high pass or low pass
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this circuit is _
A. Lowpass
B. Highpass
C. Bandpass
D. Bandstop
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2" order frequency
responses summary
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Q is quality factor.
w4, w- are half power frequencies.
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Wy (center or resonance frequency)
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200 rad/s
100 rad/s
5 rad/s
. 10000 rad/s
20 rad/s 0% 0% 0% 0% 0%




20s e 1w

SE-I-ES-I-{U:.E:G: E:MEZE: D:?
s2 4+ 20s + 40000
B (bandwidth) is
A. 200 rad/s
B. 100 rad/s
C. 5rad/s
D. 10000 rad/s
E. 20rad/s T
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